Division par Puissances de Dix (D)

Trouvez chaque quotient.

55+01= 7,84 - 0,1 =
7,93 +0,01 = 7,39 - 0,01 =
8,61+ 0,01= 2,087 - 0,01 =
3,2+0,01= 6,963 + 0,001 =
53777 = 0,001 = 7,156 - 0,1 =
5916 - 0,1 = 9,915 + 0,001 =
6,6836 - 0,001 = 57+0,01=

7,1 +0,001 = 6,7106 - 0,01 =
4,1846 - 0,01 = 9,755 + 0,001 =
7,1693 =+ 0,1 = 3,299 - 0,01 =
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Division par Puissances de Dix (D) Solutions

Trouvez chaque quotient.

55+0,1=55

7,93 + 0,01 =793

8,61+ 0,01 =861

3,2+0,01=320

53777 =+ 0,001 =5377,7

5,916 = 0,1 =59,16

6,6836 + 0,001 = 6 683,6

7,1+0,001=7100

4,1846 +- 0,01 = 418,46

7,1693 =+ 0,1 =71,693

7,84 +0,1=78,4

7,39+ 0,01 =739

2,087 = 0,01 = 208,7

6,963 + 0,001 = 6963

7,156 =~ 0,1 =71,56

9,915 + 0,001 =9915

57-+0,01=570

6,7106 =~ 0,01 = 671,06

9,755 + 0,001 =9 755

3,299 = 0,01 = 329,9
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